N"yun T0VIN'T Y7 —N'YUDIN N7'9) Nj'T'91 'N NTaYn

NIan - 'K 7'n

YN NN ,DRIINI NIN1AY7 0700 7200 IMN0N YWX ,NTAvn? AN 10" ' DT 10"

QTN VIX'T] NIIYUKRAY NIoOINAI NIR'AWUN

nMainn NX NI'1|7'7 U' NIRAYN 2AlY'NI 0D2IN1IN NN NNon NX nw"'7 nan 7y
1107 DONYAN DIV NTAYNAN 7Y D1INI NN N'OIIN'NN
N'yoin n'7'91 — "2 7n

miTaY 791 Qiant MR NNINN D'MNYN AWXD NIXIIN AVRNN X'N N'YOIN n7'o]
TADN NXIXN N OMIRT NIMNn I'K,NN|I'X .27 YOIXN T 7v Nd>'wnn N NYswn

JYORD T MY NnNnv g

-NVINN NIKNYN

VAP DXINND QYNNN NINIYNY UnNnwl (QN'Pa) nyip NI AyRNaY [11nn
DIZ'M DX .NLN 97D NN 1IN X 1N P71,N0N '9%) 71 X' 7910 AN NYIRN

,V, 2 [NION N'N7NNNN NN'NAN .Y, 2ol t=0 [pra nimn DX Y NINA (001 9N

. g NIX2 MIoN AXIXNAl NN NIX ax"! t
(1) Y=Yy +upt +

N'YUKY NI'NY "M7NNNN N21IAN IX 1N 09X X' N'M7NNNN NNNN N'W9In n'7'91a

:NIN2N NNonn NX 7 Py, =0 - nnrvin
g..

2 ==t

2) y=75

.0 =9.81+ 0.10% Y2 Wnnwa At flona
sec

2nn 1 Tiny



N"yun T0VIN'T Y7 —N'YOIN N'7'9) Nj'T'91 'N NTaYn

n'o —"a p'In

NN NNXY? NN 72V NDNN I 7¢ N'winn 0'7'910 AT 7¢ NITTA YN N7 '10MA
npybhah! 125 0IY D'VO'VLO D'7571 wNnwa Rp T]IX'? J'YU9INN N'7'910 NNoNn

(n'on' XYy NO‘) NNXNN 1NN ,N9'7Y NX'AY NNOI ,N'V0'VLO NKXKAY ,NT'NKX

T

271mn 2 Tiny



